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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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"RHopt’ ], ['ETcl’, 'optETcl’], 'LAI', 'optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]

—@— setVI_ETcl
—0— setV|_fgRec |
—@— slSetVI

800
600 / \
400

200

Warning: col [ setVI_VN




Trend plot forMG_O
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BYE) | GEBRAK ) | ERE(EA/K | EREE (/R [ XS R

06:25 351 130.0 0. 055 E|  FHB06:25 KENFRF (FAMEREE)
07:25 351 130.0 0.055 & FiHfe07:25 KRHEIEF (KREERESE)
08:45 351 130.0 0.055 5| FEAQ08:45 KENFEFE (RAMEE:E)
10:00 351 130.0 0. 055 5| FHEA@10:00 KENFEF CGRAMEEEE)
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11:55 351 130.0 0. 055 5| FHA@11:55 KENIEF CGRAMEREE)
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15:55 351 130.0 0.055 5| FHAe15:55 KEIEFE CGRAFESE)
21t]3510.0 (10)%) 1300. 0 EIUHKEC: 1914.0, PH: 6.5
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MG_0, Day=38 (2025-06-07)
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11:05 300 120.0 0.05 FA| {RRi%@11:05 KRFFEF (RAERSE)
12:15 300 120.0 0. 05 PA| {RiZ@12:15 KRFEF (RAEFES)
13:15 300 120.0 0.05 (=] 1BRig@13:15 KEEF (RAFERHE)
14:05 300 120.0 0.05 [Z=| (Ri%@14:05 KEIEF CGRAMKESE)
15:30 300 120.0 0.05 [Z=| 1Ri%015:30 KREEF (RAFERSE)
17:15 300 120.0 0.05 (=] Bige17:15 KEEF (RAFEHE)
211] 3000.0 (10)%) 1200.0 EPUHKEC: 1786.0, PH: 6.5

FORGEBRIR LRy (0.32 vs 0.38), AIREE E ARNESEEREIKELRE

ERINSLPRIERE114.0 ml.

large discrepency for begining water status (162:5.0), set to 162 ml.
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BYE) | GEBERTIC (B)) | ERE (BEA/4K) | EBREE (B/R) | XS SRR

08:15 300 130.0 0. 055 E(  {Ri18008:15 KREFZF (CGRAMEREEE)
09:05 300 130.0 0. 055 B Ri%@09:05 KENFZEF (RAEEE)
09:55 300 130.0 0. 055 s BRi&@09:55 KENIZF (RAMEEE)
10:55 300 130.0 0. 055 = 1Ri%@10:55 RHEEF CGREAERSE)
11:45 300 130.0 0.055 Bl Ri&e11:45 KEHIEF (RAEEE)
12:45 300 130.0 0. 055 s Ri&e12:45 KEHIZEF (GRAEEE)
13:55 300 130.0 0. 055 = 1Rig013:55 RHEEF CGREAEZERSE)
15:00 300 130.0 0. 055 E[  1Ri8@15:00 KREFEF (GRFAEREE)
16:00 300 130.0 0. 055 sl BRi%0@16:00 KEIZF (GRAEEE)
2it|2700.0 (9%) 1170.0 JEWUHIKEC: 1710.0, PH: 6.5

ERGEBRIR LR /N (0.32 vs 0.38), AIREE & ARNESEEREIKELRE
FORGEBRT R IRAR B 21U (300 vs 342.0))
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